50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Note: Answer any FIVE full question

5

ecting atleast TWO gyes?ions Jjrom each part.

PART - A

s |
Enumerate beneficial uses of @gv%%?er Pl 4 (04 Marks)
What is meant by per ca@ltfa .demand? Discuss the iﬁet%xs that affect the per capita demand
of water. ”‘%ﬁ (08 Marks)
Determine the populatio of a town after three d&gaﬁes for the available census data, using
GIM and IIM ds. (08 Marks)
Ye; 1962 | 1972 ‘%@4982 1992 | 2002
Population | 45,000 | 48,000,] 54,000 | 62,000 | 67,000
&
and infiltration well, (06 Marks)
the factors to be consig ered while selecting a location

Distin@xsh between infiltration
Wha&% intake structures? Exp:

for intake structure. (08 Marks)
Briefly explain the Testing of the pipe lines (06 Marks)
Explain types of Samp etail. (04 Marks)

Write the desirable 11m1ts“ﬁnd its env1ronme r tai& 51gn1ﬁcance f he'following parameters as
per BIS standards

i) pH ii) Waf$ardness iii) (;hldﬁv
In a water trea&mgmt plant the pH }@u@yof 1ncommg and_ou gomg waters are 7. 2 and 84
respectively. JFmd the average value

(06 Marks)
With§% iagram, €Xplain briefly thgy coplete sequence of a water treatment
plant. (08 Marks)

. /Determine the quantity’ oﬁ@lum required i gn der to treat 13 MLD of water at a treatment

&

G lant. Where 12mgﬁitr€ of alum dose @Wegulred Also determine the amount of carbon
A

C.

a.

ioxide gas whic) mw@lybe released per litre of water treated. Assume molecular weight of

AL=2697, S=32066 , O=165 H=1.008 , C=12.01. (06 Marks)
How you wtfl%determme the ng h coagulant dosage in lab using Jar test apparatus?
Discuss wifh skétch. (06 Marks)
p
PART-B
Explain with the help o? a«diagram, rapid sand filtration. (10 Marks)

b. Design 5 slow sand filter beds for the following data for a town having population of

60,000. I,

Rate of water ﬁu 120 €pcd ; Rate of Filtration = 180 ¢/m*hr

Length of each béd = 2.5 times the width.

Cons1dey‘the maximum daily demand as 1.8 times the average daily demand. Also consider

i ut of 5 units will be kept as stand by unit. (10 Marks)
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e break point chlorination, with neat
(06 Marks)

What is meant by disinfection of water? Exp'
sketch. @
. Briefly explain Zeolite process of hardne (06 Marks)
. A town having population of about 50,000, i rate of 150 £pcd.

The disinfection of water is to be ¢ ed out with bleachmg poWer containing 30% of
active chlorine. If the chlorine ) 0.3 mg/L. Calculate the
quantity of bleaching powered (08 Marks)

What is meant by Deﬂuorld%t f and Fluoridation? Expl@n the “Nalagonda technique” of
defluoridation. ¢ (08 Marks)
. Write brief note on si 1 L (06 Marks)
What are the requirem§ S i istributi ? (06 Marks)

With neat sketcl
i) Sluice Vg\lv%s (10 Marks)
. Explain the dead end” system and grid iron system of layouts of
distribu ¢ (10 Marks)



